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1. Kakon npnoop
ucnonb3yerca Ans
n3MepeHud
Temneparypbli?

A) TepmMmomeTp
b) 6bapomeTp
B) rurpomeTp




2. CamMbin XOoNnoAaHbLIN
MecsLl roga.

A) saHBapb
b) deBpanb
B) aekabpsb




3. B kakoe Bpems CyTOK
oyaeTt HabnoaaTbcA
camMas BbicokKas

TemMnepartypa Bosgyxa?

A) 8 YacoB

b) 20 yacoB
B) 14 yacoB
') 12 yacoB




4. [1pn U3MEeHeHUU BbICOTbI
Ha 1 KUNoMeTp
TeMnepartypa Bo3gyxa
MEHAEeTCH Ha ...

A) 2 rpaayca
B) 4 rpanyca
B) 6 rpagycoB
') 8 rpagycoB



5. Onpegenute aMnnnuTyay RN
TeMneparyp, eCnu yTpeHHsis X\ Jisal
Temnepartypa Obina paBHa '
— 5 rpaaycosB, a gHeBHad + 3
rpagyca.

A) 2 rpapyca
b)8
rpagycos
B)5
rpagycos

') 3 rpagyca



6. lnga Kakux LWWNpoT
XapakTepHbl CaMble HU3KUe
TemMmnepartypbl Bo3gyxa?

A)
TPONMNYECKUX

Bb) yMepeHHbIX
B)
apKTU4YeCKUX






